o
=
(00]

o llosio/dmd GeVvg
o o
= =
D (@))

o
=
N

0.01

0.008

0.006

0.004

0.002

[EEY

Ratio to ATLAS

0.5

7000 GeV pp Jets
! I T I T I T I T | I I I I | I T I T I T T ]
Jet Mass (CA(1.2), 400< p,< 500, |y| < 2.0)
m ATLAS

--3-- Herwig 7.2.0 default

:— ----- ¢ Sherpa 1.4.3 default —:
N 3 =Y N
B El LS - _
- = ]
B e -
- b N
B @ ‘g 7]
__ II \!“'!\i __
- | | Trea
——+—— ! —+— l | | | i | R EEE -
. NI NI
0 100 200

Jet mass [GeV]

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


